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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 17x9=7? [1%]
2) 46x5=7? [1%]
3)  125x5=7? [1%)]
4) 70 +5=7 [1%)]
5 91+7=9 [1%)]
6) 796+ 4=2 [1%)]
7y 1+2+3+4+5+6+7+8+9=2 [1%]
8) 216+ 127-138=2 [1%]
9) 88 x24=7 [1%)]
10) 6075+ 75=72 [1%)]
11) (1200 - 60 x 8) ~ 15="2 [1%)]
12) (279 —63) x (84 + 14) + 24 =7 [1%)]
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For questions 13 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BEIBEISE, ERVAUETH. BHAFIHRT

11 4 13
1 — 19
3) Evaluate 5 15 + 5 [1%]
N 11 4 13
= —_ _|_ o
"8 15 15 15
1 5 .
14) Evaluate6—?—1?. [1%]
. 1 5
=THE 6 : 1 =
15) Eval (4l— i) 1%
) valuate 3 9 9 9 | [1%]
4 7
= 4 o
aTE 3 s ( 5 )
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16 2%
) 10m [2%]
10 m
9 m
Thisis a/an__ ?  triangle.
Ee—E__? =@
17) John bought 3 boxes of biscuits. Mary bought 5 boxes of [2.1%]

biscuits. They spent $176 altogether. If the price of each

box of biscuits were the same, how much was a box of
biscuits?

¢MET3éﬁH,&%ETséﬁ%,M%TrmEo
MREEsHHZNERMER, MBaEtHZES DT
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18) Find the Highest Common Factor of 24 and 30. [2.2%]

K 24 #0130 I\ K F & .

19) Find the Least Common Multiple of 9, 12 and 15. [2.3%]

KO, 12715 R/ DEEL.

20) Jack finished % of his summer assignments last week. If [2.4%]
1
he did 12 of them this week, what fraction of the assignments

has Jack not finished yet?

2

= EEHBTH

EEFERTHR T Z2HRERD

711—4, LB R R LB S 2 &
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21) A square is cut out from a rectangular card. If the length [2.5%]
and the width of the card are 60 cm and 28 cm respectively,
what is the largest possible perimeter of the square in cm?

E—IRREO0EX, FH28EXHNREATER LT T—
BmRXBNEFT BEFFRNEARAGEREZMVEX?

22) Given that 4 T-shirts cost $3360 in total. If a jacket costs [2.6%]
$80 more than twice the price of a T-shirt, how much does
a jacket cost?

4 4 #FHE 3360 T, 9!\%@#5’3&1;%%1111%,5’3 2
LIEEZY0TT. M1 HIMNENEEES VT

23) Reduce to its simplest form. [2.7%]
156 e
?E m I]EEE— FE% °

364
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24) A rectangular wall is 200 cm long and 100 c¢m tall. In [2.8%]
order to cover the whole wall with some square tiles of
side length 5 cm, at least how many tiles are needed?

—EBRAEEERE 200 EX, 5 100 EX. EEHAE
HIER SEXM/NEFEEH RZER, ROEH
REZ DI

25) The weights of a mobile phone and a headset are 0.2 kg [2.9%]
and 24 g respectively. If a phone strap weighs 54 g, how
many grams is a mobile phone with 3 phone straps?

—EFRBEE 02 AF, —HEME 24 %, — @
FHEMGE 54 3. M—BET 3 EHGNTRE
#ES DR

7
26) Wilson’s sister had $13 0 originally. After giving [3%]

3
$4 l to Wilson, they both have the same amount of

money. How much did Wilson have originally?

ig%%%ﬁﬁly%aﬁ,mﬂ4é}iﬁﬁ¢$

%, MAREHEANSE. MAEEESDT?
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27)  What is the perimeter of the figure below in m? [3.1%]

UTEFEHNRARZESZDK?

12 m

12 mI
20 m

—> -« »
15 mI

16 m

<+—>
14 mI 12m

28) If the 6-digit number 613A19 is divisible by 9, find [3.2%]
the value of A.

WMRAAE613A19 ATLAHE 9 2BR, K A BIEUE.
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29) A pack of business cards can be evenly distributed to [3.3%]
either 8, 12, or 18 people without any leftover. If the
number of cards does not exceed 150, how many business
cards are there at most?

—&ERBEARHBDH 8 A, 12 AT 18 AZRERER.
MREFHEEARBIR 150 3k, MEEFERZEAE
4eaR 7

30) Write 3

750 as a decimal. [3.4%]

I
13—, RV {B/NE -
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31) Evaluate 56 x 77 x 39. [4%]

AT& 56 x 77 x 39,

32) How many triangles are there in the figure below? [4.1%]

UTE S HEFZ ME=mH"

%

/ \

33) John has some $3 stamps and $5 stamps. If he has 45 [4.2%]
stamps which worth $167 in total, how many $3 stamps
does he have?

MR 3 TEHEMS TEHR. MRMAELSE 451
HE, &E 167 T, BttE 3 THESDN?
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34) If each letter represents a different digit, then what 4-digit [4.3%]
number does “ABCD” represent?

AT, ESRXFHBRT—EAABHNEFE. M
[ ABCD ] X 3= 16— 4 9 L £ 2

D
C D
B C D

P10
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35) In the figure, ABCD is a square of area 1000 cm?2 . If E [4.4%]
and F are the midpoints of AB and BC respectively, find
the shaded area in cm?.

B4, ABCD 2—{EmEFf &R 1000 FEHFEXKBIEA
. MEEMFORE ABFI BC B2, R
HolEERZ VEREXK?

A E B

36) Find the 2021% term of the following sequence. [4.5%)]
KL TESIEE 2021 THAE

1, 3, 6, 10, 15, 21,

P11
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37) A teacher distributes some candies to her students. If [4.6%]
each student gets 3 candies, 35 candies are remaining.
If each student gets 5 candies, 7 more candies are
needed. How many candies are there?

EZMIE—LBERDAMLNRE. IRBLAREED 3
R, BIF| 354K SARBAEZES SH, BIER 7 HiL.
FZMARRS DR

38) There are 1400 red balloons and blue balloons in total. If ~ [4.7%]
57 times the number of red balloons is equal to 95 times
the number of blue balloons, find the difference between
the numbers of the two kinds of balloons.

ERAABRIKMEBRIKL 140018. HPAIER
IKEER ST BENERRIKEEN 95 . FmER
IKHIEIEREZ ME?

P12
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39) If an integer has exactly 3 factors, it is called a “MC [4.8%]
Number”. If all the “MC Numbers” are listed out in
ascending order, what is the fifth “MC Number”?

MR—EZHBIIFE 3 EARE, eHMEBEL [E8E
g8 . MRIEFHAE [BBE] APMEXIIEH, BE
A [EERE ] BEE?

40) N is an integer. When 89, 222 or 317 is divided by N, the [4.9%]
remainders are also the same. Find the largest possible
value of N.

N B—{EEE, & 89. 2223 317 B&LA N HIRF %, &8
HEPE—E. NBRAEZD?
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